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Introduction to 111 121y MM — v g

as we will learn at the beginning of this 7719, we have now “dispensed” with the laws of n"vo and are moving on the laws of 71V 72 M3, which
will occupy most of the rest of the noop. The unusual ordering of the nyawn — placing n”vafirst — is addressed in the first X210
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R mwn: exclusivity of nmnv NnNa 7121 to "HRIW’ ownership
a  if any of the five “shared” relationships from X:X obtain with non-Jew — exempt
b however: unlike n"vs, 0113 and ©"Y’s animals are D2’n — they are only exempted from DR 7131 and 70N TV
General query — why are the laws of n"va presented first?
a  justification: NNV NNNA N1 carries “essential NWVITP” (AN NWITP); N"Va only “value NWYTP” (DT NVITP)
b answerl (from »’&): the Rin “loves” the rule of n"va per X1in '7’s homily above (re: why donkeys were singled out)
¢ answer2 (from »X): the rules of n"va are few, X'win NT’ "1 wanted to “take care of it quickly” and move on
RN of RYVIR "1 (quoted by ™) regarding buying/selling nmnv nnna from/to non-Jew
a  if a YR gives a non-Jew money for one of his animals and it births (1132) before he takes possession (n2wn) — 27n
b  and if: anon-Jew gives YR1w’ money and the bought animal births (1121) before he takes possession (n2>wn) — 110
i note: both clauses used the phrase “gave money nn’772”
ii  clarification: of the term nn’yTa
1 cannot mean: inferred via v'p (“1"1” used as “inference”); from their physical selves
(a) if: we can buy them with money (as "1 T2y — v. 2)
(b) then: certainly we can buy their property with money
(i) block: if so, we should be able to buy their property with nprm 0w, as is the rule for 3"y 11p
(if) and: SR7wY’s ability to buy YR1w (»”p) with qo3, yet not his possessions (require n2>wn) defeats it
2 »anx- means — the rules established for their commerce by the n1n ("1” meaning “rules”)
(a) per:v.2—n>»wn ("Pn” - given from hand to hand) only applies to Jn'ny (fellows) — for non-Jews, qoa
(i) suggestion: perhaps n2wn is valid for Jnny and no 1p is valid for non-Jews?
1. rejection: v"p — if we can buy them, we can certainly buy from them
(if) suggestion: perhaps nawn alone is sufficient for Y81v’; non-Jews require both n2»wn and qoa?
1. rejection: v"p — if we can buy them with one p1p, we certainly don’t need two to buy oinn
(iii) suggestion: perhaps n2>wn only for YX7w; non-Jews can use either n*wn or qva?
1. rejection: just as Jn>ny has one 1p, non-Tn>ny has only one (9v2)
3 note: parallel analysis to 2" clause — but suggested 1"p in first phase is based on "3 yap of YR (v. 4)
¢ tangent: squaring the above with 9mmR’s approach — " has valid 1p (only) through na»wn
i if he holds like 2Ny 7 — n”nn, qo3 is the valid pap, then oy limits qo3 to Y8Iw’, M1 has nwn
ii  but if: he holds like 5™, that n2*wn is the essential 3p in the N7 — why does it state JnY? who's excluded?
1  answer: it excludes m from nRNR (no need to return it to him)
2 challenge: that is excluded from end of v. 3
3 defense: we require two exclusionary phrases — one for ", other for vTpn
(a) justification: if we only had one, we would have assigned it to w1pn
4 challenge: this is only valid if we hold " n% i is forbidden — must teach that " nxranR is not
(a) but if: we hold » nm is permitted — then certainly no need to return nknR (and no »oa needed)
iii  conclusion: 9MNR must agree with 11Ny 3 that n”nn, Mnp Mmyn > oYy excludes » from “nn 11p” — only nwn
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d revisiting N?WIN “7's X712 challenge — n:) 1Y Xnavn — if one buys shards from » and finds 1"y in them
i if he took them (7wn) before paying — he may return (go back on deal)
ii  but if: he took them after paying — all 1"y value in them goes to nonn o’ (and is disposed of)
1 however: if mnp myn (as per ®'YWIR 1), why does n2wn play a role here at all?
2 answer: case where non-Jew stipulated that the transaction will follow YR 177
3 challenge: if so, why do the myn play a role?
(a) answer: read — even if he gave the money, only if he took possession is it a done deal
(b) challenge: if so, first clause is difficult - why may he return them?
(1) answerl (7an): in first case, there was a myv npn -> it reverts
1. challenge (X27): there was a myv npn in both cases
(ii) answer2 (#27): in both cases — myv npn;
1. however: in first case, since he didn’t hand over any money, it doesn’t have the appearance of a
transaction involving 1"y;
2. whereas: in 24 case, since he handed over money;, it looks as if he is transacting with 1"y
a. (note: according to X1, in neither case is there an essential problem; only pyn n'xIn)
3. »ax. could answer that in the 274 case, there is no myv npn
a. argument: since he paid, he should have looked it over first
(iii) answer3 (»wx 77): in both cases, n3*Wn is not essential to 1p
1. in first case: there was no n2>wn, all that matters is the myn
a. therefore: for parallel construction, the Xin mentioned n2*wn in 2nd clause
(iv) answer4 (x82237): in 27 clause, n2*wn is a valid Pap (per INR or because he agrees to YR 1177)
1. therefore: in the 1¢ clause, too, n2>wn is Np (but he hadn’t yet taken possession)
2. question: if so, what is the N9 mentioned there? If there wasn’t yet n2>wn, from what is he 1nn?
a. answer: 7N from his oral commitment
i.  note: this is only valid if we hold ©>727 n7rn is nnKR 701NN (i.e. one’s oral commitment
is meaningful and reneging on it carries ramifications)
ii. yet: this only applies to Y87, who are trustworthy, not to n”ay
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